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Sr. No. Subjects Name of Subject Teacher Phone No. 

1 ENGLISH MS. RAMA 7007903761 

2 ACCOUNTANCY MR. AMIT LUTHRA 

(Class Teacher) 

9718438787 

3 B.STUDIES MR. AMIT LUTHRA 9718438787 
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NOTE : IF YOU HAVE ANY QUERY RELATED TO ANY SUBJECT, YOU CAN CONTACT          
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Sr. No Subject Holiday Home Work 

1 ENGLISH 

Section A – Reading Skills 
1. Comprehension Practice: 

Read any two unseen passages from any sample 
paper/book and attempt to answer the questions. (Attach 
the passage along with answers.) 

2. Newspaper Reading (5 Days): 
Choose one editorial or feature article from a national 
English newspaper. 
Write a 5-sentence summary. 
Highlight 5 new words and give their meanings. 

Section B – Writing Skills 
1. Write one formal letter to the editor on any social issue 

(e.g., noise pollution, exam stress). 
2. Write one speech or article on any one of the following 

topics: 
     The Role of Social Media in Student Life 
     Importance of Time Management 
     Artificial Intelligence: Boon or Bane? 

 
 
 

 



 

 

 

Section C – Literature 
1. Hornbill: Read and prepare summaries of the following: 
    The Portrait of a Lady 
    We’re Not Afraid to Die... 
2. Snapshots: 
Read The Summer of the Beautiful White Horse and write a 
character  sketch of John Byro 

2 ACCOUNTANCY 

1. Read and Explain the Concept of Partnership meaning and Partnership 
Deed and explain the principles regarding absence of partnership deed. 
2. Explain the meaning, factors and valuation of goodwill.  
3. Do the worksheet attached below. 

3 B. STUDIES 
1. Write 40 case study related to nature and meaning of management. 
2. Write 20 case study related to Principle of Management. 

4 ECONOMICS 

1. Complete the Project Work assigned in Class. 
    (a)Government Budget (b) RBI (c)Foreign Exchange 
2. Do proper revision of Ch-National Income, Banking, Indian Economy: 
On eve of Independence, Ch-Indian Economy 1950 to 1990. 

5 I.P. 
Do the Given reading, revision & project file work according  to the 
attached document. 

6 MUSIC 

1. Complete the practical file of Music (sample copy attached 
here for the same) 

https://drive.google.com/file/d/1BrSfOXsZOEfuNUKBVlXKE_sE4-vUYce_/view?usp=sharing 
  

7 PHY. EDU. 

1. Make Practical File of any of the 2 games 
(Football, Badminton, Cricket, Basketball) 

2. Learn relaxation technique for improving concentration 

3. Learn and perform 7 sitting yoga asana  

 Make Notes of Ch-2 in Fair Notebook. 

8 FINE ARTS 

1. Make 2 landscape with  human composition on A3 paper 
and colour it with water colour  

2. Make 2 still life  in two different mediums. 

https://drive.google.com/file/d/1BrSfOXsZOEfuNUKBVlXKE_sE4-vUYce_/view?usp=sharing


 

Work Sheet -1  

Class- 12th Commerce  

Multiple Choice Questions 

1. A, B and C are partners. A's capital is 3,00,000 and B's capital is 1,00,000, Chas not invested any amount as capital but he 

alone manages the whole business. C wants 30,000 p.a. as salary, though the deed is silent. Firm earned a profit of 1,50,000. 

How much will each partner receives as an appropriation of profits? 

(a) A 60,000; B 60,000; C 30,000 

(b) A 90,000; B30,000; C30,000 

(c) A 40,000; B40,000 and C70,000 

(d) A 50,000; B50,000 C50000 

2. Which of the following is true regarding Salary to a partner when the firm maintains fluctuating capital accounts? 

(a) Debit Partner's Loan A/c and Credit Profit and Loss Appropriation A/c 

(b) Debit Profit and Loss A/c and Credit Partner's Capital A/c 

(c) Debit Profit and Loss Appropriation A/c and Credit Partner's Current A/c 

(d) Debit Profit and Loss Appropriation A/c and Credit Partner's Capital A/c 

3. Vihaan and Mann are partners sharing profits and losses in the ratio of 3:2. The firm maintains fluctuating capital accounts 

and the balance of the same as on 31st March, 2022, is ₹ 4,00,000 and 4,65,000 for Vihaan and Mann respectively. Drawings 

during the year were 65,000 each. As per the partnership Deed, Interest on capital @ 10% p.a. on Opening Capital has been 

allowed to them. Calculate the opening capital of Vihaan given that the divisible profits during the year 2021-22 was : 

(a) ₹3,30,000 

(b) 4,00,000 

(c) ₹4,40,000  

(d) 3,00,000 

4. A, B and C were partners in a firm. As per the partnership deed, interest on drawings is to be annum. B withdrew a fixed 

amount at the end of every quarter. Interest on his charged @ 10% per drawings amounted to ₹9,000. The amount of his 

drawings per quarter were: 

(a) 2,40,00 

(6) 1,80,000 

(c) 60,000 

(d) 80,000 

 

 



 
5. Abhay and Baldwin are partners sharing profit in the ratio 3:1. On 31st March 2021, the firm’s profit is 1,25,000. The 

partnership deed provided interest on capital to Abhay and Baldwin 15,000 & 10,000 respectively and Interest on drawings 

for the year amounted to 6000 from Abhay and 4000 from Baldwin. Abhay is also entitled to commission @ 10% on net 

divisible profit Calculate profit to be transferred to Partner's Capital A/cs 

 (a) 1,10,000 

 (b) 1,00,000 

 (c) 1,07,000 

 (d) 90,000 

6. In a partnership firm, 65,000 is to be transferred to General Reserve from Net profit of 90,000 journal entry would be: 

(a) General Reserve A/c 

Dr. ₹65,000 

To Profit and Loss Appropriation A/c 

65,000 

(b) Profit and Loss Appropriation A/c 

Dr. 65,000 

To General Reserve A/c 

*65,000 

(c) Profit and Loss A/c 

Dr. ₹65,000 

To General Reserve A/c 

₹65,000 

(d) Profit and Loss Appropriation A/c 

Dr. ₹90,000 

90,000 

To General Reserve A/c 

Short Answer Questions 

7. State any four features of a partnership. 

8. Explain the provision applicable in the absence of Partnership Deed.  

9. List any four contents of a partnership deed. 

10. Distinguish between fixed and fluctuating capital. 



 
11. How would you calculate interest on drawings of equal amounts drawn in the middle of every month? 

12. Neena and Sara were partners in a firm with fixed capitals of 5,00,000 and 4,00,000 respectively It was discovered that 

interest on capital @ 6% p.a. was credited to the partners for the two-year ending 31st March 2018 and 31st March 2019 

whereas there was no such provision in the partnership deed. Their profit-sharing ratio during the last two years was: 

2017-18 4:5 

2018-19 5:1 

Pass an adjustment entry and show the workings clearly. 

[Ans. Dr. Ajay's Capital A/c 52,000, Cr. Manish's Capital A/c 74,000 and Sachin's Capital A 48,000] 

13. Explain the rules for Calculation   of Drawings of equal amount made Quarterly.  

14. A and B are partners in a firm sharing profits and losses in the ratio of 3:2. The following was the 

Balance Sheet of the firm as on 31-3-2017: 

Liabilities Capitals: A 

Liabilities Assets 

Capital   A= 60,000    Sundry Assets      80,0000 

               B= 20,000  

The profits 30,000 for the year ended 31-3-2017 were divided between the partners without allowing interest on capital @ 

12% p.a. and salary to A @ 1,000 per month. During the year, A withdrew 10,000 and B 20,000. 

Pass the necessary adjustment journal entry and show your working clearly  

[Ans. Dr. B's Capital A/c 5,280, Cr. A's Capital Ac 5.280.) [CBSE Delhi 2017(C))  

15. Prem, Param and Priya were partners in a firm. Their fixed capitals were Prem 2,00,000; Param 3,00,000 and Priya 

₹5,00,000. They were sharing profits in the ratio of their capitals. The firm was engaged in the sale of ready-to-eat food 

packets at three different locations in the city, each being managed by Prem, Param and Priya. The outlet managed by Prem 

was doing more business than the outlets managed by Param and Priya. Prem requested Param and Priya for a higher share 

in the profits of the firm which Param and Priya accepted. It was decided that the new profit sharing ratio will be 2: 1:2 and 

its effect will be introduced retrospectively for the last four y years. The profits of the last four years were 2,00,000; 

3,50,000; 4,75,000 and 5,25,000 respectively. Showing your calculations clearly, Pass a necessary adjustment entry to give 

effect to the new agreement between Prem, Param and Priya. [CBSE (AI) 2015] 

[Ans. Dr. Param's Current A/c, 1,55,000 and Priya's Current A/c 1,55,000, Cr. Prem's Current A/c 3,10,000] 

16. E, F and G were partners in a firm sharing profits in the ratio of 3: 3: 4. Their respective fixed capitals were E 3,00,000; F 

4,00,000 and G 5,00,000. The partnership deed provided for allowing interest on capital @ 12% p.a. even if it results into a 

loss to the firm. The net profit of the firm for the year ended 31st March 2018 was 2,10,000. Pass necessary journal entries 

for allowing (CBSE 2019(67/4/3) interest on capital and division of profit/loss in the books of the firm. 

[Ans. Divisible Profit = 766,000] 



 
17. A and B are partners in the ratio of 3:2. The firm maintains fluctuating capital accounts and the balance of the same as on 

31st March 2020 amounted to 1,60,000 and 1,40,000 for A and B respectively. Their drawings during the year were ₹30,000 

each. 

As per partnership deed interest on capital @ 10% p.a. on opening capitals had been provided to [CBSE Sample Question 

Paper 2021] them. Calculate opening capitals of partners given that their profits were 90,000. Show your workings clearly. 

[Ans. Opening Capitals: A 1,38,364 B 1,31,636] 

18. Mohan, Sohan and Suresh were partners in a firm sharing profits in the ratio of 2:2:1. Suresh was guaranteed a profit of 

70,000. Any deficiency on account of guarantee to Suresh was to be borne by Mohan and Sohan in 3:2 ratio. The profit of the 

firm for the year ended 31.3.2022 amounted to 72,00,000. 

Prepare Profit and Loss Appropriation Account of the firm for the year ended 31.3.2022. 

Ans. Profit transferred to Partners' Capital Accounts: Mohan 62,000, Sohan 768,000, Suresh 70,000] 

19. Amay, Anmol and Rohan entered into partnership on 1st July 2021 to share profits and losses in the ratio of 3:2:1. Amay 

guaranteed that Rohan's share of profit after charging interest on capital pa. would not be less than 36,000 p.a. Their fixed 

capital balances are: 2,00,000, 1,00,000 and 21,00,000 respectively. Profit for the year ended 31st March, 2022 was 1,38,000. 

 Prepare Profit and Loss Appropriation Account. 

[Ans. Profit transferred to Partners' Current Accounts: Amay 53,000, Anmol 40,000, Rohan 27,000 

20. Kanika and Gautam are partners in a dry cleaning business in Lucknow, sharing profits in the ratio 2:1 with capitals 

5,00,000 and 4,00,000 respectively. Kanika withdrew the following amounts during the year to pay the hostel expenses of 

her son: 

1st April 10,000 

1st June 9,000 

1st November 14,000 

1st December 5,000 

Gautam withdrew 15,000 on the first day of April, July, October and January to pay rent for the accommodation of his family. 

He also paid 20,000 per month as rent for the office of partnership firm which was in a nearby shopping complex. 

Calculate interest on the Drawings @ 6% p.a. 

 

[Ans. Interest on Kanika's drawings 1,500, Interest on Gautam's drawings 2,250] 

 

21. Vikas and Vivek were partners in a firm sharing profits in the ratio of 3: 2. On 1st April 2014 the admitted Vandana as a 

new partner for 1/8th share in the profits with a guaranteed profit o 1,50,000. The new profit-sharing ratio between Vivek 

and Vikas will remain the same but the decided to bear any deficiency on account of guarantee to Vandana in the ratio 2: 3. 

The profit the firm for the year ended 31st March 2015 was 9,00,000. 

Prepare Profit and Loss Appropriation Account of Vikas, Vivek and Vandana for the year end 31st March, 2015. [Ans. Net 

Profit transferred to: Vikas 4,57,500; Vivek 2,92,500 and Vandana 1,50,000] 



 

Long Answer Questions 

22. A, B and C were partners in a firm having capitals of 80,000; 780,000; and 740,000 respectively.  Their Current Account 

balances were A: 10,000; B: 75,000 and C: 2,000 (Dr). According to partnership deed, the partners were entitled to an 

interest on capital @5% p.a. C, being the work partner was also entitled to a salary of 26,000 p.a. The profits were to be 

divided as follows: 

(a) The First 20,000 in proportion to their capitals. 

(b) Next 30,000 in the ratio 5:3:2. 

(c) Remaining profits to be shared equally. 

The firm made a profit of 1,56,000 before charging any of the above items. Prepare Profit and Appropriation Account and 

pass the necessary Journal Entry for the apportionment of profit [Ans. Share in profit: A 53,000, B 47,000, C 40,000 

23. A, B and C were partners. Their fixed capitals were 60,000, 40,000 and 20,000 respectively. Their profit-sharing ratio was 

2:2:1. According to the partnership deed, they were entitled to interest on capital @ 5% p.a. In addition, B was also entitled 

to draw a salary of 1,500 per month. C was entitled to a commission of 5% on the profits after charging the interest on 

capital, but before charging the salary payable to B. The net profits for the year, 80,000, were distributed in the ratio of their 

capitals without providing for any of the above adjustments. Showing your workings clearly pass the necessary adjustment 

entry. 

[Ans. Divisible Profits 52,300, C's Commission 3.700, Dr. A's Current A/c 16,080, Cr. B's Current A/c 14,253 and C's Current 

A/c 1,827] 

24. Singh and Gupta decided to start a partnership firm to manufacture low cost jute bags as plastic bags were creating many 

environmental problems. They contributed capitals of 21,00,000 and 50,000 on 1st April, 2012 for this. Singh expressed his 

willingness to admit Shakti as a partner without capital, who is specially abled but a very creative and intelligent friend of his. 

Gupta agreed to this. The terms of partnership were as follows: 

(1) Singh, Gupta and Shakti will share profits in the ratio of 2:2:1. 

(i) Interest on capital will be provided @6% p.a. 

Due to shortage of capital, Singh contributed 25,000 on 30th September 2012 and Gupta contributed 10,000 on 1st January, 

2013 as additional capital. The profit of the firm for the year ended 31st March 2013 was ₹1,68,900.Prepare Profit and Loss 

Appropriation Account for the year ending 31st March, 2013. 

[Ans. Profit transferred to: Singh's Capital A/c 763,600, Gupta's Capital A/c 63,600, Shakti's Capital A/c 31,800] 

25. On 31st March, 2014, the balances in the Capital Accounts of Esha, Manav and Daman after making adjustments for 

profits and drawings were 3,20,000, 2,40,000 and 1,60,000 respectively. Subsequently it was discovered that interest on 

capital and drawings had been omitted. 

(i) The profit of the year ended 31st March, 2014 was ₹90,000. 

(i) During the year, Esha and Manav each withdrew a sum of 48,000 in equal instalments in the middle of every month and 
Daman withdrew 760,000. 

(ii) The interest on drawings was to be charged @5% p.a. and interest on capital was to be allowed @ 10% p.a. 

(iv) The profit-sharing ratio among the partners was 3:2:1. Showing your workings clearly, pass the necessary rectifying entry. 
(CBSE (AI) 2015 (C)) 



 
[Ans. Esha's Capital A/c (Dr.) ₹6,250, Manav's Capital A/c (Dr.) 300, Daman's Capital A/c (Cr.) *6,550] 

26. Ankur, Bhavna and Disha are partners in a firm. On 1st April 2016 the balance in their capital accounts stood at 

14,00,000, 76,00,000 and 4,00,000 respectively. They shared profits in the proportion of 7:3: 2 respectively. Partners are 

entitled to interest on capital @ 6% per annum and salary to Bhavna @ 50,000 p.a. and a commission of ₹3,000 per month to 

Disha as per the provisions of the partnership deed. 

Bhavna's share of profit (excluding interest on capital) is guaranteed at not less than 1,70,000 p.a. Disha's share of profit 

(including interest on capital but excluding salary) is guaranteed at not less than 1,50,000 p.a. Any deficiency arising on that 

account shall be met by Ankur. The profits of the [CBSE (AI) 2013 firm for the year ended 31st March 2017 amounted to 

9,50,000. Prepare 'Profit and Loss Appropriation Account' for the year ended 31st March, 2017. 

[Ans. Profit transferred to Ankur's Capital ₹4,14,000, Bhavna's Capital 1,80,000 and Disha's Capital 1,26,000] 

27. A, B and C were partners in a firm sharing profits and losses in the ratio of 3:3:4. On 1st April, 2017 the balances in their 

Capital and Current Accounts were as follows: 

Name of Partners Capital Accounts Current Accounts 

A 4,00,000 Cr 20,000 Dr 

B 5,00,000 Cr 10,000 Dr 

C 6,00,000 Cr 15,000 Dr 

Their partnership deed provided for the following: 

(i) Interest on Capital @ 9% p.a. 

(i) Salary to A @ 50,000 per quarter.  

On 1st January, 2016 C had given a loan of 2,00,000 to the firm at 6% per annum interest. During the year their drawings 

were A 40,000, B75,000 and C 55,000. On 1st January, 2018, A introduced further capital 2,00,000. The net profit of the firm 

before allowing interest on C's loan was 4,00,000. 

 Prepare Profit and Loss Appropriation Account of the firm for the year ending 31st March, 2018 and the Current Accounts of 

the partners. [CBSE 2019 (67/5/2)] 

[Ans. Divisible Profits 48,500, (Dr.) A's Current A/c (Cr.) ₹1,95,050, C's Current Account (Cr.) 3,400; (Cr) B's Current Account 

(Dr.) *25,450.] 

 

 

 

 

 

 



 



 



 



 



 



 



 



 



 



 



 

 



 
 

 

 

“Summer is messy, Summer is fun, Trips 

to the beach, In the hot, hot Sun, Let’s 

give summer, A big fat cheer! Summer is 

the best time of the year”. Happy 

Summer 


